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- Share useful resources and websites







Which method
did you use?

What skills

6+ 7= were you

15 + 11 = using?

24 + 9 =

32 + 21 = Does that method
work for all of these

45 + 36 = calculations?




[ + [ = (doubling)

6 + 7 = (near doubles: double 6, then add 1 more)

15 + 11 = (add 10, add 1)

24 + 9 = (add 10, subtract 1)

32 + 21 = (could add 20, add 1 or add tens, add units and then total)
45 + 36 = (adding by partitioning)

120 + 11 = (add 10, add 1)



ition and subtraction to
Place value (units, tens and hundreds)
Time (o'clock, half past, quarter to, quarter past)
Measurement (weight, length, capacity)
Money (everyday money- calculating change)
Problem solving
Handling data (graphs, tables, sorting data)
Shape and space

Today we will focus on the red highlighted examples
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+1 +1 +1 +1 +1
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F1 |72 |73 |74 |75 (76| 77| 78|79

80

81 | 82 | B3| 84| B5 | 86| 87| 88| B9

F1 | 72|73 |74 |75 |76 | 77| 78| 79| 80

91 | 92 |93 | 94|95 | 96| 97 | 98| 99

100

81 | 82 | B3| 84| 8Bb | 86| 87| 88| 89|90

32+6=38

“Start at 32 and add on 6 more
Jjumps”

91 | 92 |93 | 94|95 | 96| 97 | 98| 99 (100

34 +26 =60

"Start at 34 jump down 10, 20 and
across 21,22, 23, 24, 25, 26"



34+ 23:=57

+10

B4 BE Bs B7
34+ 23:=587
+10 +10
/fffffg‘xhxx\jff/f/f#naxxk\i/;iﬁ\‘
34 44 54 57
34+23:=57

+20

,f’ff/ffﬁ#rr—ﬁhmaahhﬂ“ﬂa/;L\\

34 54 57



40+ 30 =70
B+o=14
JO+14=84




Do these calculations have the same answer?

Write yes or no next to each box.

One is done for you.

O

8+2 and 2+8

Write a digit in each box to make the sum correct.

7 + =181 3




= 6

8 - 2



oo

The difference between
3and 6 is 3

* }




A number line can also help you solve subtraction problems.

To show this problem on the
Tttt nummr Iine' gO frOIT'l O 1(8) 8
012345678910 and then count back 5.

9"3=6 B 5-4 =
Pl 5 2 o B >~
012345678910 012345678910


http://www.google.co.uk/url?sa=i&rct=j&q=&esrc=s&frm=1&source=images&cd=&cad=rja&docid=1q83tebbPjM48M&tbnid=DQgqvKG3nA8bDM:&ved=0CAUQjRw&url=http://excelmathmike.blogspot.com/2012/05/using-number-lines-to-add-and-subtract.html&ei=YwUEUajrK4mr0AWst4GQDQ&bvm=bv.41524429,d.d2k&psig=AFQjCNE1UnLsKzMV98QWHPPW7mt-l3kInA&ust=1359304420082925
http://www.google.co.uk/url?sa=i&rct=j&q=&esrc=s&frm=1&source=images&cd=&cad=rja&docid=1q83tebbPjM48M&tbnid=DQgqvKG3nA8bDM:&ved=0CAUQjRw&url=http://excelmathmike.blogspot.com/2012/05/using-number-lines-to-add-and-subtract.html&ei=YwUEUajrK4mr0AWst4GQDQ&bvm=bv.41524429,d.d2k&psig=AFQjCNE1UnLsKzMV98QWHPPW7mt-l3kInA&ust=1359304420082925

21| 22 za@m@fyz 30 21| 22|23 | 24| 25| 26| 27| 28| 29| 30
31| 32| 33|34 (36| 36| 37 38| 39|40 31| 32| 33| 34 (35| 36| 37| 38| 39|40
41| 42|43 |44 | 45 | 26| 47 | 48 | 49 | 50 41| 42|43 | 44| 45 | 26 | 47 | 48| 49 | 50
hi|h2 | b3 | b4 | bbb | ba | 67| BB | B9 | 60 A1 TelEAalERE LEG [ HY | BB | B9 | 60
61 | 62 |63 |64 | 6b | 66| 67| 6B | 69| 70 61 | 62 |63 |64 | 6B | €5 | 6F | 68 | 69 | 7O
1| 7273|7470 |76 | 77|78 79| 80 1| 7273|7475 7|78 79| 80
Bl | 82| 83|84 |8b| 86| 87| B8 B8990 Bl | 82 | B3 | B84 | Bb | Bo| 87| B8 89|90
0192 | 93|94 (95 | 96| 97| 98 | 99 (100 0192 |93 | 94 (95| 96| 97| 98 | 99 (100
29 -5=24 76 -24 =52
“Start at 29 and jump back 5" "Start at 76 jump up 10, 20 and back

21,22,23,24"



47 -23:-24

24 25 26 27 37

47-23=24

-3 -10 -10

FaVAA VAN

24 27 37 47

f\/\

24 27



'Four in a row' subtraction
Aim: to get four in a row before your partnerl

565-24 65-31 89-44 F2-11 94-33 TB-46

81-20 60-24 TFe-31 TFa-32 43-21 T9-20

68-47 66-16 Fr-41 Fr-22 86-31 B9-44

60-35 aF-22 49-24 B6-12 50-17 B83-41

30-13 3r7-16 29-11 68-35 66-33 F3-15

3IT-24 4921 48-16 39-13 44 23 40-15




20

Sita has 50 raisins.

She gives 23 to Ben.

She gives 15 to Amy.

How many raisins does Sita have left?

Show
your
working

raisins




5+5+54+5:20



b+b+bHh=15H
3 "lots of" 5 =15
3xb=15




1 x2=2
2X2=4
3x2=6
4x2=8
5x2=10
6 x2=12
7 x2=14
8 x2=16
9x2=18

10x 2 = 20

If children can count 2, 4, 6, 8, 10,
12... then they can work out 6 x 2!

Start by using the phrase...
what is 6 ‘'lots of' 2?

Move on to...
What is 6 'times' 2?



Joy picks 4 flowers a
day on Monday,
Tuesday, Wednesday
and Thursday. How
many flowers does
she have?

r‘. "'.1

V//W

5 cats have
4 kittens each. How

many kittens are

there In tota

%‘%%




Write the two missing numbers in this pattern.

Ben has 13 crayons.

i
%z -/
\

-
Here are Abdul’s crayons. -
How many crayons does Abdul have? -

o Sita puts 2 shoes in each of these boxes.

How many shoes are there altogether?

crayons $h°e$










12+6 =2



Sita cuts a pizza into four equal slices.

She eats one slice.

What fraction of the pizza does she eat?

Amy makes 20 cakes.

O She shares the cakes between 5 plates.

Tick the calculation that shows how many
cakes are on each plate.

Tick one.

20+5=25 [ ]
20-5=15 []
20 - 5 =4 [1]

20 x 5 =100 [ ]



different resources to help their learning.
* Once confident with a strategy we then

ask them to apply it through problem
solving activities and games.

+ Applying the skills learnt to different
situations is the bit they find difficult .
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Stage 1

Pictures and symbols

There are 3 sweets inone bag.

How many sweets are there in 5 bags?

Stage 2

Arrays ard repected addition
® & & ® q4uZord+4
- & & &
Zx4

Z+Z+E+2

Fortitioning
Eg.lEx2=30
A 10 + &

2 20 + 10 =30
Stage 4 S

&rid method

Eg.3Bx2=70
x a0 5
2 &1 1 =70

Eg, 123 » 3 - 360

X 100 [ 20 3

2 200 |60 |9 = 3469 I !
Stage 5

&rid method

T2 x 3B
X 70 2
30 |2100 |80 = 2160
-] 560 |16 = _5T74 ¢
2736 ! !
Stage &
Short and lomg multiplication £z
342 124
- x 28
2304 T44
zd 2480
J224

Stoge 1
Pictures 12 children get irto teams of 4 fo
play a game. How mamy teams are there?

"
L
A

it
T

Shoring & swests are shared betwssn 2 people.
How marry do they have sach? (B = 2)
- :- L ] - 1 -
Repeated subtroaction on o number line
12=3-4
-3 -3 -3 -3

012 3 4 5 & 7 & 9% 10

11 12

4

1 -3 -3 -3 -3 -3

Division with remainders
6=3=6rl

012 34567891011 12 131415 15

Stage 4
20+ & 2on b el led oo
Srouping - groups of & taken away end the number of
groups ceunted &g

- - = - ]

21+ 4 =10 FL

Use chunking for divisian.

L]

(B 8] Totaloll the
‘chusl’ of

Bxb Bt fied the

o

- 2 (L]

i

Answers 18 r 2

Stage &
Shart ond lorg division
496 = 11 becomas

4 6rl
M3 a

432 + 18
2E 12/1E or 28 4/8
B 432
ang
132
120
12
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Stage 1
Draw pictures and images

=

Prake £

& G
e =

wnd g, o med

Stage 2
Use of number lines fo count on in ones from
the bigger rumber.

T+4:=-11
— PAVAWL VL
@ Lt 2 3 4 5 & T a4 @ w0t on
Stage 3
23+12-23+10+1+1
-1 1 =1
23 33 33
Stage 4
Partition inte tens and units.
53+36=8%
=30 i
ﬁﬂ
EEl a3 a9
Stage 5
B3 +42:=-1256 Progress to:
a0+3 a3
40+ 2 +42
120+ 5=125 5
120
125
Stage &

Formal written methods

398 Extend to numbers with any
+73 number of digits and
431 decimals with 1 and 2

11 decimal places.

Z OO0 @CWw

Uzz of number line fo count back in ones.

1-7=4
L 2 3 4 5 & 7T a & ¢ LI 12
|
AR A

Stage 3 I !
Courrting back in tens and urits.
37 -12=37-10-1-1
25 7 37

-1 -1 -10

Progressing to taking larger jumps with the wits.

Stage 4
Counting on from the smaller rumber to the
larger rumber 24 - 56 = 28

E11 L1 &a L
Stage § ‘U'
g2 a0 -+ 9
- 67 B0 ¢+ 7
30 o+ 2 =32 Progress to:
Tlz TO+1z 60411
46 40+ 6 40+ 6
20+5 Progress to:
T54-86=700 + 40 + I4
- B + &
600 +140 + 14
- 81 + &
600 + 60 + B = 668
Stage &
Decomposition
92 352
- 38 -178
54 174

Progress o using decomposition with
decimals.



Using food

| EKE 9411

Using measuring cups

Measuring Cylinder



Nash's
Adventures



http://www.ictgames.com/numberFacts.htm
http://www.ictgames.com/numberFacts.htm
http://www.bbc.co.uk/schools/ks1bitesize/numeracy/
http://www.bbc.co.uk/schools/ks1bitesize/numeracy/
http://www.bbc.co.uk/schools/starship/maths/index.shtml
http://www.bbc.co.uk/schools/starship/maths/index.shtml
http://www.bbc.co.uk/schools/digger/
http://www.bbc.co.uk/schools/digger/
http://www.bbc.co.uk/schools/laac/
http://www.bbc.co.uk/schools/laac/
http://www.amathsdictionaryforkids.com/dictionary.html
http://www.amathsdictionaryforkids.com/dictionary.html

</

http://www.bbc.co.uk/bitesize/ks1/maths/

http://www.crickweb.co.uk/ksinumeracy.ht
m|

http://www.happypuzzle.co.uk/maths-
games-ks1.aspx



http://www.ictgames.com/
http://www.bbc.co.uk/schools/teachers/keystage_1/topics/numeracy.shtml
http://www.bbc.co.uk/bitesize/ks1/maths/
http://www.crickweb.co.uk/ks1numeracy.html
http://www.happypuzzle.co.uk/maths-games-ks1.aspx




